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Question Number : 1 Question Id : 6806794201 Question Type: MCQ

Correct: 1 Wrong: 0

How many fundamental duties are imposed on Indian citizens at present ?

Options:
1.5
2.9
=10
4 11

Question Number : 1 Question Id : 6806794201 Question Type: MCQ

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 6806794202 Question Type: MCQ
Correct: 1 Wrong: 0

who was the first Union Law Minister of independent India?
Options:

1. Sardar Vallabh bhai Fatel

2. Dr. BER. Ambedlar

2 E.M. Munhsi

4, Dr. Zakir Hussain

Question Number : 2 Question Id : 6806794202 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 6806794203 Question Type: MCQ
Correct: 1 Wrong: O
Article 19(1) (@) of the Constitution guarantees which freedom to the citizens ?

Options:

1. Freedorn of Assembly

2. Freedom of Association

3. Freedom of Spesch & Expression
4. Freedorn of Trade & Occupation

Question Number : 3 Question Id : 6806794203 Question Type: MCQ

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 6806794204 Question Type: MCQ

Correct: 1 Wrong: 0

Wwhich schedule to the Constitution contains the anti-defaction law?
Options:

1. ¥III

z IX



3 XK
4. Xl

Question Number : 4 Question Id : 6806794204 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 6806794205 Question Type: MCQ
Correct: 1 Wrong: 0
The number of villages adopted under Grama Jyothi scheme in Telangana State

Options:
1. 2580
2. 2850
3. 2058
4, 2085

Question Number : 5 Question Id : 6806794205 Question Type: MCQ
Correct: 1 Wrong: O
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Options:

1. 2580

2. Z28t0

3. 2058

4. Z0E85S

Question Number : 6 Question Id : 6806794206 Question Type: MCQ
Correct: 1 Wrong: O
The Fishermen self—help groups in the state are knowrl as

Options:

1. Matsya Poshala group

2. Matsva Mitra groups

3. Matsva Rakshaka groups
4. Matsva Jathi groups

Question Number : 6 Question Id : 6806794206 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 6806794207 Question Type: MCQ

Correct: 1 Wrong: 0

The quantity of rice supplied under 'Antyodaya Anna Yojana Scheme' to each family per month @ REs.1/- per
Egis

Options:

1. 20Kg

Z 25Eg

3. 30Kg

4 35Kg

Question Number : 7 Question Id : 6806794207 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:

1 20 Eefeu
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2 30 Eef%ens

4 35 Eefen

Question Number : 8 Question Id : 6806794208 Question Type: MCQ

Correct: 1 Wrong: 0

The rnumtber of Agricultural Market Corrruttess in Telangana State are
Options:

1.100

2. 150

= 200

4. 250

Question Number : 8 Question Id : 6806794208 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 6806794209 Question Type: MCQ
Correct: 1 Wrong: O

Wwho said "Local self-governments are instruments of administrative efficiency, political education and human
developroent”

Options:

1. Mahatma Sandhi
2. 5K Dey

2. Lord Rippon

4. Lord Mayo



Question Number : 9 Question Id : 6806794209 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 6806794210 Question Type: MCQ
Correct: 1 Wrong: 0

Who 15 knowr as the architect of Panchayat Raj in India ?
Options:

1. Lord Rippor

2. Balwantarai Mehta

=, Asholk Mehta

4. Mahatma Gandhi

Question Number : 10 Question Id : 6806794210 Question Type: MCQ
Correct: 1 Wrong: 0

dERfoeT Somoh 8 o Hphy A 9 JHBSoird?
Options:

F_:Pg 5325

1
=
3, 8
El

Question Number : 11 Question Id : 6806794211 Question Type: MCQ
Correct: 1 Wrong: O
Fifth schedule Provisions deal with

Options:

1. Bifurcation of States

2. Addition or deletion of castes into the existing list of 5Cs/5Ts
2. Administration of scheduled areas and scheduled Tribes

4. Sharing of water resources between states

Question Number : 11 Question Id : 6806794211 Question Type: MCQ
Correct: 1 Wrong: 0

ot _"dérae_'ﬁ_s'_’i"?ﬁl wofer Dot Domodilad?
Options:

n‘-@:m Dimd s Honofofldd

1.

wirae, ot |Dind dad” do By foorein Fofiotido 00 febdof DomofollDnd
—= =

2.
3 Tdrgd |Frose, 2o dreds Donofoddd



ﬂ‘lﬁ__-_-e_: &"J-:-f-a Be Sddhe Sobrdf YonoBodldd

Question Number : 12 Question Id : 6806794212 Question Type: MCQ
Correct: 1 Wrong: 0
District Judges are appointed by

Options:

1. President of India

2. Governor of the State

3. Chief Minister of the State
4. Law Minister of the State

Question Number : 12 Question Id : 6806794212 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 6806794213 Question Type: MCQ
Correct: 1 Wrong: 0

Executive powers of the Union are vested in
Options:

1. Lok Sabha

2. President of India

2. Prime Minister

4. Zouncil of Ministers

Question Number : 13 Question Id : 6806794213 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 6806794214 Question Type: MCQ
Correct: 1 Wrong: 0

The words 'socialist' and 'secular' were inserted in the preamble by
Options:

1. 15th Constitutional Arnendrent

2. 29th Constitutional Arnendrent

2. 42nd Constitutional Arnendrnernt

4. 44th Constitutional Amendment



Question Number : 14 Question Id : 6806794214 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 6806794215 Question Type: MCQ
Correct: 1 Wrong: 0

The right to be produced before a court of law after arrest is
Options:

1. a fundamental right

2. a directive principle

2 not a fundamental right

4 alegal right only

Question Number : 15 Question Id : 6806794215 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 16 Question Id : 6806794216 Question Type: MCQ
Correct: 1 Wrong: O
which one of the following is not correct?

Options:

1. Articles 36 to 51 deal with fundamental duties

2. The directive principles are directives to legislature and executive

2. Prormoticon of international peace and security is one of the directive principles of state policy
4. 42nd Amendrment introduced fundamental duties

Question Number : 16 Question Id : 6806794216 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 17 Question Id : 6806794217 Question Type: MCQ
Correct: 1 Wrong: 0

who appoints Chief Minister of Union Territory?
Options:

1. Presidernt

2. Lt. Governor

2. Prime Minister

4. Governor

Question Number : 17 Question Id : 6806794217 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 6806794218 Question Type: MCQ
Correct: 1 Wrong: 0

MName the three presidency towrns where Municipal Administration was as per the Charter Act of 1793
Options:

1. Delhi, Bombay, Calcutta

2. Madras, Calcutta, Bornbay

3. Hyderabad, Madras, Calcutta

4. Delhi, Bormbay, Madras

Question Number : 18 Question Id : 6806794218 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 6806794219 Question Type: MCQ
Correct: 1 Wrong: O

Wwhat is the name of the scheme introduced by the Telangana Governiment to help the girls of 5Cs/5Ts get
IArried?

Options:
1. Vivaha Vaibahogar
2. Kalvana Lakshrmi



=. Kanyadan
4. Bangaru Thalli

Question Number : 19 Question Id : 6806794219 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 6806794220 Question Type: MCQ
Correct: 1 Wrong: 0
The geographical area of Telangana State at present is

Options:

1.1,14,540 5q. Kims.
2. 1,12,777 5q. Kms.
=.1,14,040 5q. Kms.
4 1,12,077 5q. Kms.

Question Number : 20 Question Id : 6806794220 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 6806794221 Question Type: MCQ
Correct: 1 Wrong: 0
The district with the highest sex-ratio in 2011 15

Options:

1. Hyderabad
2. Nizarmabad
= Karimnagar
4, Kharram

Question Number : 21 Question Id : 6806794221 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 22 Question Id : 6806794222 Question Type: MCQ
Correct: 1 Wrong: 0
The proposed Yadadri Therrmal poweer plant will e constracted at

Options:

1. Yadagiri gutta, Nalgonda
2. Alair, Malgonda

=. Bhuwvanagiri, Malgonda
4. Darraracharla, Malgonda

Question Number : 22 Question Id : 6806794222 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 6806794223 Question Type: MCQ
Correct: 1 Wrong: O
MNurmber of cities in Telangana State identified as Smart cities by the Government of India are

Options:
1.1
2 2
3.3
4 4

Question Number : 23 Question Id : 6806794223 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 6806794224 Question Type: MCQ
Correct: 1 Wrong: O

Tata Iron and steel company 15 located at

Options:

1. REoorkela

2. Durgapur



=2 Bokaro
4. Jamshedpur

Question Number : 24 Question Id : 6806794224 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 6806794225 Question Type: MCQ
Correct: 1 Wrong: 0

Two places on the same meridian must have the same
Options:

1. Latitude

2. Length of summer

=. length of winter

4. Solar time

Question Number : 25 Question Id : 6806794225 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 6806794226 Question Type: MCQ
Correct: 1 Wrong: 0

Hollywood film indudstry is concentrated at

Options:

1. Mew york

z. Los Angels

2. Sanfransisco

4. Las Vegas

Question Number : 26 Question Id : 6806794226 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 6806794227 Question Type: MCQ
Correct: 1 Wrong: 0
FPort Elair 15 located in Islands

Options:

1. North Andarman
2. Middle Andarman
=, South Andamarn

4 Barren

Question Number : 27 Question Id : 6806794227 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 28 Question Id : 6806794228 Question Type: MCQ

Correct: 1 Wrong: O

which of the following areas of India does not come under the zone of high seismic intensity?
Options:

1. Uttarakhand

2. Kachch

3 Karnataka Plateau

4. Hirmachal Pradesh

Question Number : 28 Question Id : 6806794228 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 6806794229 Question Type: MCQ
Correct: 1 Wrong: 0

"Zika" which 15 i1 news recently, isa

Options:

1. Satellite

Z. Wirus

=. Flant variety



4. Star

Question Number : 29 Question Id : 6806794229 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 6806794230 Question Type: MCQ
Correct: 1 Wrong: 0
Who is the present President of Russia?

Options:

1. ¥Wladirmin Futin

2. Boris Yeltsin

2. Dirnitri Medwvedey

4, ¥Wiktor Chernoryrdin

Question Number : 30 Question Id : 6806794230 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 31 Question Id : 6806794231 Question Type: MCQ
Correct: 1 Wrong: 0
Saeed Jaffery who expired recently was a

Options:

1. Famous Dancer
2. Famous Fainter
=. Farmous Actor

4. Farmous Scientist

Question Number : 31 Question Id : 6806794231 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 6806794232 Question Type: MCQ
Correct: 1 Wrong: 0

Wwho vwas appointed as Chief Justice of India recently »
Options:

1. Justice ¥V.E. Sabherwal

2. Justice NV, Ramana

2. Justice 5.5, MNijjar

4. Justice T.5. Thalkur

Question Number : 32 Question Id : 6806794232 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 6806794233 Question Type: MCQ
Correct: 1 Wrong: 0

Who headed the 7ih Central Pay Coronission which submitted its report in MNowernber 2015 7
Options:

1. Justice & K. Goel

2. Justice & . Mathur

3. Arawvind Panagaria

4. Montek Singh Ahluwalia

Question Number : 33 Question Id : 6806794233 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 6806794234 Question Type: MCQ
Correct: 1 Wrong: 0

who among the following were elected as the first Mayor and Deputy Mayors respectively of the Greater
Hyderabad Municipal Corporation after the formation of the Telangana State ?

Options:
1. Bonthu Rammohan - Majid Hussain
z. Bonthu Rarmmmohan - Mohd, Ghouse

=. Bonthu REarmmohan - Baba Fasiuddin



4. Gadwal Vijaya lakshmi - BEaba Fasiuddin

Question Number : 34 Question Id : 6806794234 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 6806794235 Question Type: MCQ
Correct: 1 Wrong: 0

Who is the present Governor of the Reserve Eank of India ?
Options:

1. Raghuram Eajan

2. Arvind Subrarnanian

. Dr. ¥ Venugopal Reddy

4 Dr. D Subba Rao

Question Number : 35 Question Id : 6806794235 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 6806794236 Question Type: MCQ
Correct: 1 Wrong: 0

E. Lakshma Goud, who was awarded Padma 5ri recently belonged to the field of
Options:

1. Painting

2. Dance

2. Music

4, Sculpture

Question Number : 36 Question Id : 6806794236 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 6806794237 Question Type: MCQ
Correct: 1 Wrong: 0

Which Europearn city was attaclked by Terrorists in Novermber 2015
Options:

1. London

Z. Paris

= Rome

4. Berlin

Question Number : 37 Question Id : 6806794237 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 6806794238 Question Type: MCQ

Correct: 1 Wrong: 0

who defeated Serena Williams to become the Australian Wormens Tennis Open Champion in January 2016
Options:

1. Maria Sharapova

2. Wictoria Azarenlka

3. Angelique Ferber

4. 5ania Mirza

Question Number : 38 Question Id : 6806794238 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 6806794239 Question Type: MCQ
Correct: 1 Wrong: 0

Theory of Evolution was proposed by

Options:

1. Gregor Mendel



2. otto Hann
2. Charles Darwin
4. Sigrmuand Freuad

Question Number : 39 Question Id : 6806794239 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 6806794240 Question Type: MCQ
Correct: 1 Wrong: O
The frequency of noise is expressed in

Options:

1. Decibel
2. Hertz
. 5FL

4 Pa

Question Number : 40 Question Id : 6806794240 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 41 Question Id : 6806794241 Question Type: MCQ
Correct: 1 Wrong: O

The main cause of Ozone laver depletion is

Options:

1. CFC

H,O
5 2

5 CO:

510
4 2

Question Number : 41 Question Id : 6806794241 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 42 Question Id : 6806794242 Question Type: MCQ

Correct: 1 Wrong: 0

which of the following is India's first Satellite exclusively used for educational purposes
Options:

1. CARTO SAT

Z RISAT-1

= EDUVISTA

4. EDUSAT

Question Number : 42 Question Id : 6806794242 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 43 Question Id : 6806794243 Question Type: MCQ
Correct: 1 Wrong: 0
Mycology is the study of

Options:

1. Insects

2. Fungi

3. Water bodies
4. Wolcanoes

Question Number : 43 Question Id : 6806794243 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 6806794244 Question Type: MCQ
Correct: 1 Wrong: 0

The male part of a flower is

Options:

1. starnen



2. Stigma
2 Fistil
4 Petal

Question Number : 44 Question Id : 6806794244 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 45 Question Id : 6806794245 Question Type: MCQ
Correct: 1 Wrong: 0
A& galvanised metal has been coverad with

Options:

1. 01l

2. Zing

. Iron

4. Calciam

Question Number : 45 Question Id : 6806794245 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 46 Question Id : 6806794246 Question Type: MCQ
Correct: 1 Wrong: O
Indian Agricultural Eesearch Institute (JARI 15 located at

Options:

1. Delhi

2. Lulaiow
. Cuttaclk
4. Kasorgod

Question Number : 46 Question Id : 6806794246 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 47 Question Id : 6806794247 Question Type: MCQ
Correct: 1 Wrong: 0

Loss of calcium from bones is called as

Options:

1. Osteoporosis

2. Osteophagosis

. Osteomylitus

4. Osteohytosis

Question Number : 47 Question Id : 6806794247 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 48 Question Id : 6806794248 Question Type: MCQ
Correct: 1 Wrong: O

Pencillin was discoverad by

Options:

1. Galileo

2. Wiliam Harvey

o, Alexander Flerming

4. Jonas Salk

Question Number : 48 Question Id : 6806794248 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 49 Question Id : 6806794249 Question Type: MCQ
Correct: 1 Wrong: 0

MNight blindness is caused due to the deficiency of Vitarmin
Options:

1. A



=
3.
4. D

Question Number : 49 Question Id : 6806794249 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:
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Question Number : 50 Question Id : 6806794250 Question Type: MCQ
Correct: 1 Wrong: 0
The Elood group wihich is universal recipient

Options:
1 A
2.0

= E

4. AR

Question Number : 50 Question Id : 6806794250 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 51 Question Id : 6806794251 Question Type: MCQ
Correct: 1 Wrong: 0
Clowves are

Options:

1. Floweer buds
2. Roots

Z. Leawves

4, Seeds

Question Number : 51 Question Id : 6806794251 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 52 Question Id : 6806794252 Question Type: MCQ
Correct: 1 Wrong: 0
The nurmber of chrormosomes in fermales

Options:
1. 46
2. 23
= 44
4. 24

Question Number : 52 Question Id : 6806794252 Question Type: MCQ
Correct: 1 Wrong: O

Lfi_:u_e_ue_':'l" o (E'Sref Soen Qay?
Options:

1. 45

2 23

= 44

4 24

Question Number : 53 Question Id : 6806794253 Question Type: MCQ
Correct: 1 Wrong: O
The cherrical used i clond seeding

Options:

1. Silver [odide
2. Silicon Dioxide
. Lead

4. Wanadiarr

Question Number : 53 Question Id : 6806794253 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 54 Question Id : 6806794254 Question Type: MCQ
Correct: 1 Wrong: O
The metal used in non-stick cook wares

Options:
1. Teflon
2. Iron

. Graphite



4. Silver

Question Number : 54 Question Id : 6806794254 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 6806794255 Question Type: MCQ
Correct: 1 Wrong: 0

Enhancement of Thyreid gland due to [odine deficiency is known as
Options:

1. Cirrhosis

2. Hypokalerria

2 Psoriasis

4. Goitre

Question Number : 55 Question Id : 6806794255 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 6806794256 Question Type: MCQ
Correct: 1 Wrong: 0
The scientific name of Rice

Options:

1. Cajanus cajan

2. Solanum Melongnaes
3. Cryza Sativa

4. Oryza Zasana

Question Number : 56 Question Id : 6806794256 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 6806794257 Question Type: MCQ
Correct: 1 Wrong: 0

who was the founder of the Servants of India Society ?
Options:

1. Gopalakrishna Golkhale

Z. Bala Gangadhar Tilal:

= KM Munhsi

4. M.M. Joshi

Question Number : 57 Question Id : 6806794257 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 58 Question Id : 6806794258 Question Type: MCQ
Correct: 1 Wrong: 0

who of the following was the founder member of the Congress Socialist party?
Options:

1. Lala Lajpat Kal

Z MG Ranade

3. Bala Gangadhar Tilak

4. Acharya Narendra Dev

Question Number : 58 Question Id : 6806794258 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 59 Question Id : 6806794259 Question Type: MCQ
Correct: 1 Wrong: 0

The writer of the Eool: "Gandhi Eise to Power"

Options:

1. Jawaharlal Nehru

2. Judith Erowm

3. G Pryarelal

4. aAcharva Kripalani



Question Number : 59 Question Id : 6806794259 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 60 Question Id : 6806794260 Question Type: MCQ

Correct: 1 Wrong: 0

Who ameng the following attenided all the three Eound Table Conferences
Options:

1. % D Savarkar

2. Dr. EE. Ambedkar

=. Mahatima Gandhi

4. Jawaharlal Nehru

Question Number : 60 Question Id : 6806794260 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 61 Question Id : 6806794261 Question Type: MCQ
Correct: 1 Wrong: O
The syster of "Dual Government” in Bengal was introduced by

Options:

1. Warrern Hastings
2. Fobert Clive

=. Lord Cornwallis
4. Lord Wellesley

Question Number : 61 Question Id : 6806794261 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 62 Question Id : 6806794262 Question Type: MCQ
Correct: 1 Wrong: 0
Darul-shifa' means

Options:

1. a Hospital

2. an Educational Institution
2. a Mosque

4. a Palace

Question Number : 62 Question Id : 6806794262 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 63 Question Id : 6806794263 Question Type: MCQ
Correct: 1 Wrong: 0

The Telargana peasant armed struggle was withdrawn in which year?
Options:
1. 1948
2. 1949
3. 1350
4 1951

Question Number : 63 Question Id : 6806794263 Question Type: MCQ
Correct: 1 Wrong: 0

2ooms Barod dhad 0o o HoddFoes” I5notndon?
Options:
1. 1948
2. 1949
3. 1350
4. 1351

Question Number : 64 Question Id : 6806794264 Question Type: MCQ
Correct: 1 Wrong: 0

Dring which Cutbshahi Sultan's period, the French Travellor Thevnot visited Gollonda
Options:

1. Tbrahim-Culi—-Juthshah

2. Mohammmed -Culi-Cuthshah

2. Abdullah-Cutbshah

4, Abul Hasan Tanashah

Question Number : 64 Question Id : 6806794264 Question Type: MCQ



Correct: 1 Wrong: 0
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4.

Question Number : 65 Question Id : 6806794265 Question Type: MCQ
Correct: 1 Wrong: 0
The founder of 'Jai Telangana Party' was

Options:

1. Konda Laxman Bapuji

2. Magam Janardhan Reddy
3. P Indira Eeddy

4. F. Janardhan Reddy

Question Number : 65 Question Id : 6806794265 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 6806794266 Question Type: MCQ
Correct: 1 Wrong: 0

Indian Econoriy is called as

Options:

1. Capitalist Econcrny

2. Socialist BEconorny

2. Mixed Economy

4. Gandhian Econorny

Question Number : 66 Question Id : 6806794266 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 6806794267 Question Type: MCQ
Correct: 1 Wrong: 0
Child population denotes the age group consisting of

Options:

1. 0-4 vears
2. 0-G years
3. 0-10 vears
4 0-14 years

Question Number : 67 Question Id : 6806794267 Question Type: MCQ
Correct: 1 Wrong: 0

So¥aty (age group) Syrg 2% ady Loll-

[

Options:
0-4 Hod&oren

> 0-8 Soddoren
0-10 Hod&oen

0-14 Hod&hmen

Question Number : 68 Question Id : 6806794268 Question Type: MCQ
Correct: 1 Wrong: O
Sew ratio mndicates

Options:

1. MNumber of males per 1,000 fermales
2. Number of males per 100 fermales
2. Number of fernales per 1,000 males
4. MNurmnber of fermales per 100 males

Question Number : 68 Question Id : 6806794268 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 69 Question Id : 6806794269 Question Type: MCQ
Correct: 1 Wrong: 0

Marginal farmer means a farmer cultivating agricultural land upto
Options:

1. 1 hectare

2. 2 hectares

. 2.5 hectares

4. 5 hectares



Question Number : 69 Question Id : 6806794269 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 6806794270 Question Type: MCQ
Correct: 1 Wrong: 0
The cooperative credit societies have a

Options:

1. Twro-tier structure
2. Three-tier structures
Z. Four-tier structure
4, Fiwve-tler structure

Question Number : 70 Question Id : 6806794270 Question Type: MCQ
Correct: 1 Wrong: O
LTEd 5056 Hoye DiFEo o Do tvotnob?
Options:
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Question Number : 71 Question Id : 6806794271 Question Type: MCQ
Correct: 1 Wrong: 0
The pattern of education in Telangana is (in years)

Options:

1. 104+2+4
2. 10+2+2
3 104+3+2
4 10+3+3

Question Number : 71 Question Id : 6806794271 Question Type: MCQ
Correct: 1 Wrong: 0

Zoomme” Bindo o) oy IFdo (Doddored”) JB?
Options:
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Question Number : 72 Question Id : 6806794272 Question Type: MCQ
Correct: 1 Wrong: 0

Telangana State Financial Corporation gives financial assistance mainly to develop
Options:

1. Agricultural farms

2. Cottage industry

2. Mediurm & small scale industries

4. Large scale industries

Question Number : 72 Question Id : 6806794272 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 6806794273 Question Type: MCQ
Correct: 1 Wrong: O

The major food crop of Telangana is

Options:

1. Maize

2. Jowmar

2. Paddy

4 Wheat

Question Number : 73 Question Id : 6806794273 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 6806794274 Question Type: MCQ
Correct: 1 Wrong: 0
In terms of area and size of the population, the place of Telangana in India is

Options:

1. 12th largest state
2. 9th largest state
3. 15th largest state
4. 13th largest state



Question Number : 74 Question Id : 6806794274 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 6806794275 Question Type: MCQ
Correct: 1 Wrong: 0

Mirmal in Adilabad district is famous for
Options:

1. Sheet metal art

2. Arts & Nakashi exhibition

3. Sarees

4. Handicrafts and paintings

Question Number : 75 Question Id : 6806794275 Question Type: MCQ
Correct: 1 Wrong: 0
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Section Id : 68067938

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 75

Number of Questions to be attempted: 75

Section Marks: 75
Sub-Section Number: 1
Sub-Section Id: 68067938

Question Number : 76 Question Id : 6806794276 Question Type: MCQ
Correct: 1 Wrong: 0

The CAD comrnand which joins two non- parallel lines with an intermediate line or beveal
Options:

1. Trim

2. Chamfer



= Cuat
4. Mirror

Question Number : 76 Question Id : 6806794276 Question Type: MCQ
Correct: 1 Wrong: 0
The CAD corrariand which joins two non- parallel lines with an intermediate line or bevel

Options:

1. Trim

2. Chamfer
3. Cut

4. Mirror

Question Number : 77 Question Id : 6806794277 Question Type: MCQ
Correct: 1 Wrong: O
Inn sloping style lettering an inclination ----- degrees to horizontal 15 adapted

Options:

90

5 407

5 15

L 35

Question Number : 77 Question Id : 6806794277 Question Type: MCQ
Correct: 1 Wrong: 0
Inn sloping style lettering an inclination ----- degrees to horizontal 15 adapted

Options:

;S0

5 40

5 15

4 73

Question Number : 78 Question Id : 6806794278 Question Type: MCQ
Correct: 1 Wrong: 0
In which geometrical shape the sum of included angles is 1080 degrees,

Options:

1. Octagon
2. Hexagon
3. Rectangle
4. Monagon

Question Number : 78 Question Id : 6806794278 Question Type: MCQ

Correct: 1 Wrong: 0

Ir1 which geometrical shape the surn of included angles is 1030 degrees,
Options:

1. Cctagon

2. Hexagon



=. Rectangle
4. Nonagorn

Question Number : 79 Question Id : 6806794279 Question Type: MCQ
Correct: 1 Wrong: 0
Diameter of cylinder is given, what more to be given to draw a Helix

Options:

1. Fitch

2. Minor axis
3. IMAajor axis
4. tangent

Question Number : 79 Question Id : 6806794279 Question Type: MCQ
Correct: 1 Wrong: O
Diameter of cylinder is given, what more to be given to draw a Helix

Options:

1. Fitch

2. TIINOT axis
3. IMAajor axis
4. tangent

Question Number : 80 Question Id : 6806794280 Question Type: MCQ

Correct: 1 Wrong: 0

In which projection, the projectors are perpendicular to the plane of projection?
Options:

1. Isometric

Z. Oblique

3. Perspective

4. Crthographic

Question Number : 80 Question Id : 6806794280 Question Type: MCQ
Correct: 1 Wrong: 0
In which projection, the projectors are perpendicular to the plane of projection?

Options:

1. Isometric

2. COblique

3. Perspective
4. Orthographic

Question Number : 81 Question Id : 6806794281 Question Type: MCQ
Correct: 1 Wrong: 0

& drawirg is drawr to 1 o = 2 1, what 15 its RFY

Options:

1.1/100

Z 111000

> ljz00

4. 1j500

Question Number : 81 Question Id : 6806794281 Question Type: MCQ
Correct: 1 Wrong: O



& drawirg is drawr to 1 o = 2 1, what 15 its RFY
Options:

1.1/100

2. 11000

o, ljpz00

4. 1500

Question Number : 82 Question Id : 6806794282 Question Type: MCQ
Correct: 1 Wrong: 0

In Auto CAD, before actual plotting, what has to be done?
Options:

1. Preview

2. Set the convas

3. Z00rr

4. Trim

Question Number : 82 Question Id : 6806794282 Question Type: MCQ
Correct: 1 Wrong: O

Inn &uto CAD, before actual plotting, what has to be done?
Options:

1 Freview

2. Set the convas

3 Zoom

4 Trim

Question Number : 83 Question Id : 6806794283 Question Type: MCQ
Correct: 1 Wrong: 0

Thesizeof ________ brickis 19 cm X 9 cm X 90m.

Options:

1. second class

2. third class

2. modular

4 First class

Question Number : 83 Question Id : 6806794283 Question Type: MCQ
Correct: 1 Wrong: O

Thesizeof ________ brick1s 13 cm X 9 o X 9o

Options:

1. second class

2. third class

3. modular

4 First class

Question Number : 84 Question Id : 6806794284 Question Type: MCQ
Correct: 1 Wrong: 0

Yertical member of a door frame is

Options:

1. Mullion

2. Muritin

2. Strut



4. Style

Question Number : 84 Question Id : 6806794284 Question Type: MCQ
Correct: 1 Wrong: 0
Yertical member of a door frame is

Options:
1. Mullion
2. Murntin
3 Strut
4. Style

Question Number : 85 Question Id : 6806794285 Question Type: MCQ
Correct: 1 Wrong: 0

DPC in building rmeans

Options:

1. Dual Folythene Coat

2. Damp Proof Course

2. Darmp Flastering Cerrent

4. Damp Prevention Cherical

Question Number : 85 Question Id : 6806794285 Question Type: MCQ
Correct: 1 Wrong: 0
DFC inn building mmeans

Options:

1. Dual Polythene Coat

2. Damp Froof Course

=, Darnp Flastering Cerriernt

4. Damp Prevention Chermical

Question Number : 86 Question Id : 6806794286 Question Type: MCQ
Correct: 1 Wrong: O
Maximum number of steps in a single flight are

Options:
1 1=
2. 12
> 14
4. 8

Question Number : 86 Question Id : 6806794286 Question Type: MCQ
Correct: 1 Wrong: 0

Mazirmum number of steps in a single flight are

Options:

1. 18

2. 12

314

4.8

Question Number : 87 Question Id : 6806794287 Question Type: MCQ
Correct: 1 Wrong: 0
Following is not a Fitched roof truss



Options:

1. King Post Truss
2. Cueer Fost Truss
2. Lean to Roof

4. Flat Slab

Question Number : 87 Question Id : 6806794287 Question Type: MCQ
Correct: 1 Wrong: 0
Following is not a Fitched roof truss

Options:

1. King Post Truss
2. Cueen Post Truss
3. Lean to Roof

4. Flat 5lab

Question Number : 88 Question Id : 6806794288 Question Type: MCQ
Correct: 1 Wrong: 0

In RCC multi floored building, the walls separating the rooms are
Options:

1. Load bearing walls

2. panel walls

=, Parapet walls

4. Structural walls

Question Number : 88 Question Id : 6806794288 Question Type: MCQ
Correct: 1 Wrong: 0

In RCC multi floored building, the walls separating the rooms are
Options:

1. Load bearing walls

2. panel walls

3. Parapet walls

4. Structural walls

Question Number : 89 Question Id : 6806794289 Question Type: MCQ
Correct: 1 Wrong: 0

The following is not a Clay product in Civil Engineering
Options:

1. Glass

2. Briclk

3. Stonewarse pipe

4. Pot tile

Question Number : 89 Question Id : 6806794289 Question Type: MCQ
Correct: 1 Wrong: 0

The following is not a clay product in Civil Engineering
Options:

1. Glass

z. Brick

3. Stonewara pipe

4. Pot tile



Question Number : 90 Question Id : 6806794290 Question Type: MCQ
Correct: 1 Wrong: 0
which of the following is a type of bond in brick work?

Options:

1. Flermingo
2. France

2. Francisco
4. Flernish

Question Number : 90 Question Id : 6806794290 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following is a type of bond in brick work?
Options:

1. Flermingo

2. France

=, Francisco

4. Flermish

Question Number : 91 Question Id : 6806794291 Question Type: MCQ
Correct: 1 Wrong: 0
MNumber of links that are provided in a 30 m chain are

Options:
1. 66
2. 150
=100
4. 20

Question Number : 91 Question Id : 6806794291 Question Type: MCQ
Correct: 1 Wrong: 0

MNurmiber of links that are provided in a 20 rm chair are
Options:

1. BE

2 150

. 100

4. 20

Question Number : 92 Question Id : 6806794292 Question Type: MCQ
Correct: 1 Wrong: 0
The following set of dimensions is used in setting out right angle, in chain survey

Options:

1. 6-5-10
2. 32-4-5
3. 3-4-7
4 4-5-&

Question Number : 92 Question Id : 6806794292 Question Type: MCQ
Correct: 1 Wrong: O
The following set of dimensions is used in setting out right angle, in chain survey

Options:



1. 6-8-10
2. 3-4-5
2. 3-4-7
4. 4-5-6

Question Number : 93 Question Id : 6806794293 Question Type: MCQ
Correct: 1 Wrong: 0

The principle of chain surveying is

Options:

1. Trawversing

2. Transilation

o, Transportation

4. Triangulation

Question Number : 93 Question Id : 6806794293 Question Type: MCQ
Correct: 1 Wrong: 0

The principle of chain surveying is

Options:

1. Trawersing

2. Transilation

3. Transportation

4. Triangulation

Question Number : 94 Question Id : 6806794294 Question Type: MCQ
Correct: 1 Wrong: 0

Convert the WCB 88°30" in to RB, in compass survey

Options:

. N88"30'W

- S88°30W
, S88°30E
N88°30'E

Question Number : 94 Question Id : 6806794294 Question Type: MCQ
Correct: 1 Wrong: 0

Convert the WCB 88°30' into RB, in compass survey

Options:

. N8g=30W

, S88°30'W
. S88°30E
N88°30'E

Question Number : 95 Question Id : 6806794295 Question Type: MCQ
Correct: 1 Wrong: O



i3T5 Bench marks are established by
Options:

1. Archeological survey

2. Survey of Great Eritan

2. Survey of India

4 TN

Question Number : 95 Question Id : 6806794295 Question Type: MCQ
Correct: 1 Wrong: 0
TS5 Bench marks are established by

Options:

1. Archeological survey
2. Survey of Great Eritan
2. Survey of India

. TN

Question Number : 96 Question Id : 6806794296 Question Type: MCQ
Correct: 1 Wrong: O

The FB of the line PQ is 36°30" and BB of same is 216°00" . The local attraction is

Options:
; 1°30

5 30’

5 40

4. 20

Question Number : 96 Question Id : 6806794296 Question Type: MCQ
Correct: 1 Wrong: 0

The FB of the line PQ is 36°30" and BB of same is 216°00" . The local attraction is

Options:
, 1°30°

5 30

5 40

4, 20

Question Number : 97 Question Id : 6806794297 Question Type: MCQ
Correct: 1 Wrong: 0

In a contour map, the lower values in side the loop indicates
Options:

1. Thill

2. cliff

. valley

4. overhanging cliff

Question Number : 97 Question Id : 6806794297 Question Type: MCQ
Correct: 1 Wrong: 0



In a contour map, the lower values in side the loop indicates
Options:

1. hill

2. Cliff

. valley

4. overhanging cliff

Question Number : 98 Question Id : 6806794298 Question Type: MCQ
Correct: 1 Wrong: 0

The ranging method adopted when both ends of the survey are not intervisible is
Options:

1. indirect ranging

2. arial ranging

3. parellel ranging

4. parabolic ranging

Question Number : 98 Question Id : 6806794298 Question Type: MCQ

Correct: 1 Wrong: O

The ranging method adopted when both ends of the survey are not intervisible is
Options:

1. indirect ranging

2. arial ranging

2. parellel ranging

4. parabolic ranging

Question Number : 99 Question Id : 6806794299 Question Type: MCQ
Correct: 1 Wrong: 0

Area of embankment of raod section is given by, whose top width is 'a', bottorm width is b’ and perpendicular
distance or height is 'h' meters

Options:

1. a+Zakih
2. @A+
2. (Za+h
4, @a+hhiz

Question Number : 99 Question Id : 6806794299 Question Type: MCQ
Correct: 1 Wrong: 0

Area of embankment of raod section is given by, whose top width is 'a', bottorn width is 'b' and perpendicular
distance or height is ' meters

Options:

1. a+ZzZakih
2. @a+hh
3. (Za+iih
4 @a+hhjz2

Question Number : 100 Question Id : 6806794300 Question Type: MCQ
Correct: 1 Wrong: 0

In simpson's rule of calculating boundary area, the bounday is assumed to form
Options:

1. an arc of circle

2. an arc of parabola



= an arc of helix
4. a straight line

Question Number : 100 Question Id : 6806794300 Question Type: MCQ
Correct: 1 Wrong: 0
In simpson's rule of calculating boundary area, the bounday is assumed to form

Options:

1. an arc of circle

2. an arc of parabola
2. an arc of helix

4. a straight line

Question Number : 101 Question Id : 6806794301 Question Type: MCQ
Correct: 1 Wrong: O
while setting out a building plan of centre line length 8m ¥ 6m, the length of diagonal will be

Options:
1. 2m
2. G
3. 71
4 1011

Question Number : 101 Question Id : 6806794301 Question Type: MCQ

Correct: 1 Wrong: 0

while setting out a building plan of centre line length 2m X &, the length of diagonal will be
Options:

1.8m

Z. B

37

4. 10m

Question Number : 102 Question Id : 6806794302 Question Type: MCQ
Correct: 1 Wrong: 0
Alidade is used in ——-------——---- Survey

Options:

1. compass
2. theodolite
3. plane table
4 cross staff

Question Number : 102 Question Id : 6806794302 Question Type: MCQ
Correct: 1 Wrong: 0

Alidade isused in —————---—--———- survey

Options:

1. Cornpass

2. theodolite

=, plane table

4. cross staff

Question Number : 103 Question Id : 6806794303 Question Type: MCQ
Correct: 1 Wrong: O



Theodolite is used to measure following directly.
1. Horizontal distance 2. Horizontal angle 2. Vertical angle

Options:

1. 1and 3 only
2. 1,23

. 2 only

4. 2and = only

Question Number : 103 Question Id : 6806794303 Question Type: MCQ
Correct: 1 Wrong: 0

Theodolite is used to measure following directly.
1. Horizontal distance 2. Horizontal angle 2. Vertical angle

Options:

1. 1and 3 only
2. 1,22

3 Zonly

4, Zand = only

Question Number : 104 Question Id : 6806794304 Question Type: MCQ
Correct: 1 Wrong: O

At a traverse point 'C' the back bearing CB is 240° 30' and fore bearing CD is 99°.
Then included angle at C is

Options:

| 140° 30

5 141° 30

5 142°30

4 139° 30

Question Number : 104 Question Id : 6806794304 Question Type: MCQ
Correct: 1 Wrong: O

At a traverse point 'C' the back bearing CB is 240° 30" and fore bearing CD is 99°.
Then included angle at C is

Options:

. 140°30°

5 141°30

- 142730

4 139° 30

Question Number : 105 Question Id : 6806794305 Question Type: MCQ

Correct: 1 Wrong: 0

Ot of the following, which method gives true difference of level between two points,
Options:

1. Profile levelling

2. Compound levelling



3. Reciprocal levelling
4. Flv lewelling

Question Number : 105 Question Id : 6806794305 Question Type: MCQ
Correct: 1 Wrong: 0
Out of the following, which method gives true difference of level between two points,

Options:

1. Profile levelling

2. Cormpound levelling
=. Reciprocal levelling
4. Fly levelling

Question Number : 106 Question Id : 6806794306 Question Type: MCQ
Correct: 1 Wrong: O
Who is responsible to follow the local building bye-lwas

Options:

1. Licenced surveyor
2. Executive Engineer
3. Chartered engineer
4. Elected local body

Question Number : 106 Question Id : 6806794306 Question Type: MCQ
Correct: 1 Wrong: 0

Who is responsible to follow the local building bye-lwas
Options:

1. Licenced surveyor

2. Executive Engirneer

3. Chartered engineer

4. Elected local body

Question Number : 107 Question Id : 6806794307 Question Type: MCQ
Correct: 1 Wrong: 0
Fixing the direction of the building face is known as

Options:

1. weritilation
2. orientation
. Ccosntruction
4. elevation

Question Number : 107 Question Id : 6806794307 Question Type: MCQ
Correct: 1 Wrong: 0

Fixing the direction of the building face is known as

Options:

1. werntilation

2. orientation

2. cosntruction

4. elevation

Question Number : 108 Question Id : 6806794308 Question Type: MCQ
Correct: 1 Wrong: O



A% per muncipal bye-lwas is, what is the minimum front set back for a plot of 280 s53.m
Options:

1. 4

Z b

. 3r

4. 1rm

Question Number : 108 Question Id : 6806794308 Question Type: MCQ
Correct: 1 Wrong: 0

As per muncipal bye-lwas is, what is the minirmum front set back for a plot of 280 59.m
Options:

1. 4m

Z. 5m

3. 3m

4. 1rm

Question Number : 109 Question Id : 6806794309 Question Type: MCQ
Correct: 1 Wrong: O
FAR in local bye-law means

Options:

1. Fixed area ratio

2. Floor apartment ratio
Z. Floor area ratio

4. Fixed apartrment ratio

Question Number : 109 Question Id : 6806794309 Question Type: MCQ
Correct: 1 Wrong: 0
FAR in local bye-law means

Options:

1. Fixed area ratio

2. Floor apartrrient ratio
=. Floor area ratio

4. Fixed apartrment ratio

Question Number : 110 Question Id : 6806794310 Question Type: MCQ
Correct: 1 Wrong: O

For getting muncipal permisssion along with building plan, key plan, the following plan is a must to be draw.
Options:

1. Future plan of additional floors

2. Site plan

3. Neighbour's plan

4. markout plan

Question Number : 110 Question Id : 6806794310 Question Type: MCQ
Correct: 1 Wrong: 0

For getting rmuncipal permisssion along with building plan, key plan, the following plan is a st to e drawr.
Options:

1. Future plan of additional floors

Z. Site plan

2. Neighbour's plan



4. markout plan

Question Number : 111 Question Id : 6806794311 Question Type: MCQ
Correct: 1 Wrong: 0
If proposed site is not in approved lay out, following charges arelevied by muncipality

Options:

1. Property Charges

2. bettermernt

3. good will

4. registration charges

Question Number : 111 Question Id : 6806794311 Question Type: MCQ

Correct: 1 Wrong: 0

If proposed site is not in approved lay out, following charges arelevied by muncipality
Options:

1. Property Charges

2. bettermnent

3. good will

4. registration charges

Question Number : 112 Question Id : 6806794312 Question Type: MCQ
Correct: 1 Wrong: 0

A bye-lawisa

Options:

1. Govt of India order

2. State gowernment order

2. Local law

4 Indian standard code

Question Number : 112 Question Id : 6806794312 Question Type: MCQ
Correct: 1 Wrong: O

A bye-law isa

Options:

1. Gowvt of India order

2. State government order

. Local law

4 Indian standard code

Question Number : 113 Question 1d : 6806794313 Question Type: MCQ
Correct: 1 Wrong: 0

Farks, Plav grounds and Back ¥Vards are provisioned by
Options:

1. Town Flanning Departrrient

2. Individual

2. Association of Citizens

4, Central Government

Question Number : 113 Question Id : 6806794313 Question Type: MCQ
Correct: 1 Wrong: 0
Parks, Play grounds and Back Yards are provisioned by



Options:

1. Town Flanning Departrrent
2. Individual

2. Association of Citizens

4. Central Goverrnment

Question Number : 114 Question Id : 6806794314 Question Type: MCQ
Correct: 1 Wrong: 0
The portion of a road used for vehicular traffic is known as

Options:

1. Right of way
2. Carriage way
3. Road way

4. Wehicle way

Question Number : 114 Question Id : 6806794314 Question Type: MCQ
Correct: 1 Wrong: 0

The portion of a road used for vehicular traffic is known as
Options:

1. Right of way

2. Carriage way

=. Road way

4. Vehicle way

Question Number : 115 Question Id : 6806794315 Question Type: MCQ
Correct: 1 Wrong: 0

The distance abowve the centre line of a road at which a driver has visibility of an object, stationary or mowving
at a specified height abowe the carriage way is called

Options:

1. Vision distance
2. Safe distance
3. 5ight distance
4. Object distance

Question Number : 115 Question Id : 6806794315 Question Type: MCQ
Correct: 1 Wrong: O

The distance above the centre line of a road at which a driver has visibility of an object, stationary or mowvirg
at a specified height abowve the carriage way is called

Options:

1. Visicn distance
2. Safe distance
3. 5ight distance
4. Ohject distance

Question Number : 116 Question Id : 6806794316 Question Type: MCQ
Correct: 1 Wrong: 0

The classification of roads was done as per the recormmendations made in the Nagpur plan finalised by the
IRCin

Options:
1.134=
2. 1924



3. 1345
4. 13547

Question Number : 116 Question Id : 6806794316 Question Type: MCQ
Correct: 1 Wrong: 0

The classification of roads was done as per the recormmendations made in the Nagpur plan finalised by the
R in

Options:
1.134=
2. 1924
. 1945
4, 1947

Question Number : 117 Question Id : 6806794317 Question Type: MCQ
Correct: 1 Wrong: 0

The highweay which connects important cities and towrls i & state or wnportant cities and districts head
quarters with naticnal highways are known as?

Options:

1. State highwavs

2. National highways
2. District roads

4. Capital roads

Question Number : 117 Question Id : 6806794317 Question Type: MCQ
Correct: 1 Wrong: 0

The highwavy which connects important cities and towns in a state or irmportant cities and districts head
quarters with naticnal highways are knowr as?

Options:

1. S5tate highways

2. National highways
2. Dastrict roads

4. Capital roads

Question Number : 118 Question Id : 6806794318 Question Type: MCQ
Correct: 1 Wrong: 0
The distance between the inner faces of two rails in broad gauge is

Options:

1. 1.67¥6m
2. 1.000m
2 0.7E2m
4. 1.500m

Question Number : 118 Question Id : 6806794318 Question Type: MCQ
Correct: 1 Wrong: O
The distance between the inner faces of two rails in broad gauge is

Options:

1 1676m
2. 1.000m
> D.¥6Em
4. 1.500rm



Question Number : 119 Question Id : 6806794319 Question Type: MCQ
Correct: 1 Wrong: 0

The granular material or crushed store provided under and around the sleepers to transfer loads coming over
it to a larger area and provide elasticity to the track is known as

Options:

1. Sleeper

2. Ballast

2. Subgrade

4, Ground Stone

Question Number : 119 Question Id : 6806794319 Question Type: MCQ
Correct: 1 Wrong: 0

The granular material or crushed store provided under and around the sleepers to transfer loads coming over
it to a larger area and provide elasticity to the track is kncw as

Options:

1. Sleeper

Z. Ballast

3. Subgrade

4. Ground Store

Question Number : 120 Question Id : 6806794320 Question Type: MCQ
Correct: 1 Wrong: 0

When two Or more railway lines rmeet at a railway station, it is called
Options:

1. Juncticn

2. Yard

=, Terminal

4. Crossing

Question Number : 120 Question Id : 6806794320 Question Type: MCQ
Correct: 1 Wrong: 0
WHer two Or more railway lines meet at a railway staticn, it is called

Options:
1. Juriction
2. Yard
3. Terminal
4. Crossing

Question Number : 121 Question Id : 6806794321 Question Type: MCQ

Correct: 1 Wrong: 0

When the centre line of the bridge 1s not at right angles to the centre linea of river, it i5 called
Options:

1. Straight bridge

2. Skew bridge

2. inclined bridge

4. right angled bridge

Question Number : 121 Question Id : 6806794321 Question Type: MCQ
Correct: 1 Wrong: 0
Wwher the centre line of the bridge is not at right angles to the centre line of river, it is called

Options:



1. Straight bridge

2. Skewr bridge

3. inclined bridge

4. right angled bridge

Question Number : 122 Question Id : 6806794322 Question Type: MCQ
Correct: 1 Wrong: 0

The difference in the levels of the water surfaces between upstream and downstream of the bridge is called
Options:

1. afflux

2. level difference

2. up and dowr levels

4. influx

Question Number : 122 Question Id : 6806794322 Question Type: MCQ
Correct: 1 Wrong: 0

The difference in the levels of the water surfaces between upstream and downstream of the bridge is called
Options:

1. afflux

2. level difference

= up and dowr leveals

4. influx

Question Number : 123 Question Id : 6806794323 Question Type: MCQ
Correct: 1 Wrong: 0
& cross drainage work whose total length is less than e is called

Options:

1. Fassage

2. Cause way
=. small bridge
4. culwvert

Question Number : 123 Question Id : 6806794323 Question Type: MCQ
Correct: 1 Wrong: O
& cross drainage work whose total length is less than em is called

Options:

1. Passage

2. CAause way
2. small bridge
4. culvert

Question Number : 124 Question Id : 6806794324 Question Type: MCQ
Correct: 1 Wrong: O

The walls constructed on both sides of the abutrments to retain the earth in embarkment and protect therm if
necessary from the action of water are

Options:

1. protection walls
2. abutment walls
3. wirg walls

4. end walls



Question Number : 124 Question Id : 6806794324 Question Type: MCQ
Correct: 1 Wrong: 0

The walls constructed on both sides of the abutrments to retain the earth in embarkment and protect therm if
necessary from the action of water are

Options:

1. protection walls
2. abutment walls
3. wirg walls

4. end walls

Question Number : 125 Question Id : 6806794325 Question Type: MCQ
Correct: 1 Wrong: 0

The area enclosed inside an imaginary boundary line upto which certain irrigation channel is capakle of
supplying water for irrigation purposes is

Options:

1. Gross Commanded area

2. Net Cormanded area

3. Effective Commmanded area
4. Culturable cormmanded area

Question Number : 125 Question Id : 6806794325 Question Type: MCQ
Correct: 1 Wrong: 0

The area enclosed inside an imaginary boundary line upto which certain irrigation channel is capable of
supplying water for irrigation purposes is

Options:

1. Gross Conmmanded area

2. Net Commanded area

2. Effective Commanded area
4. Culturable conmrnanded area

Question Number : 126 Question Id : 6806794326 Question Type: MCQ
Correct: 1 Wrong: O

The time elapsed from the first watering at the time of sowing to the last watering whern the crops mature, is
called

Options:

1. Base period
2. Crop period
3. ¥ield period
4. et period

Question Number : 126 Question Id : 6806794326 Question Type: MCQ
Correct: 1 Wrong: 0

The timne elapsed from the first watering at the time of sowing to the last watering when the crops mature, is
called

Options:

1. Base period
2. Crop period
=, Yield period
4. MNet period



Question Number : 127 Question Id : 6806794327 Question Type: MCQ
Correct: 1 Wrong: 0

The realation between duty(D), delta(A), in terms of base period (B) is
Options:
A=864D/B

, D=864A/B

3 B=8.64A/D

A =8.64 B/ID

Question Number : 127 Question Id : 6806794327 Question Type: MCQ
Correct: 1 Wrong: 0

The realation between duty(D), delta(A), in terms of base period (B) is
Options:
A =864 D/B

-~ D=864A/B

3 B=664A/D

A=8.64B/D

Question Number : 128 Question Id : 6806794328 Question Type: MCQ
Correct: 1 Wrong: O

A cross drainage work carryirg drainage over the canal 15
Options:

1. Aqueduct

2. Super passage

3. Weir

4. Barrage

Question Number : 128 Question Id : 6806794328 Question Type: MCQ
Correct: 1 Wrong: 0

& cross drainage work carrying drainage over the canal is
Options:

1. Aqueduct

Z. Super passage

2. Weir

4. Barrage

Question Number : 129 Question Id : 6806794329 Question Type: MCQ
Correct: 1 Wrong: 0

Underground pipeline used to carry right soil from water closets in a building
Options:
1. Sewer
2. Drain

= Barrel



4. 501l pipe
For the above question, User had specified "ambiguous during keys upload.

Question Number : 129 Question Id : 6806794329 Question Type: MCQ

Correct: 1 Wrong: 0

Underground pipeline used to carry right soil from water closets in a building
Options:

1. Sewer

z. Drain

=, Barrel

4, Soil pipe

For the above question, User had specified 'ambiguous' during keys upload.

Question Number : 130 Question Id : 6806794330 Question Type: MCQ
Correct: 1 Wrong: 0
Opening in a drain or sewer which is used for clearing any obstruction in it is

Options:

1. Drain eye

2. Clearing eye

3. Clearing round
4, Draining rournd

Question Number : 130 Question Id : 6806794330 Question Type: MCQ
Correct: 1 Wrong: O
Opening in a drain or sewer which is used for clearing any obstruction in it is

Options:

1. Drain eye

2. Zlearing eve

3. Clearing round
4. Draining rournd

Question Number : 131 Question Id : 6806794331 Question Type: MCQ
Correct: 1 Wrong: 0

Water supply and distribution pipes, fixtures, taps, valves, soil, vent and waste pipes, drains sewers and all
their connections in a building is

Options:

1. Sewerage systerns
2. Plumbing systern
2. flow systern

4. carriage system

Question Number : 131 Question Id : 6806794331 Question Type: MCQ
Correct: 1 Wrong: 0

Water supply and distribution pipes, fixtures, taps, valves, soil, vent and waste pipes, drains sewers and all
their connections in a building is

Options:

1. Sewerage systems
2. Plumbing systern
2. flow systemn

4. carriage system



Question Number : 132 Question Id : 6806794332 Question Type: MCQ
Correct: 1 Wrong: 0

In septic tank design, the volume of digested sludge assumed as -—m>/capita/day

Options:

1. 021

2. 0021

3. 00021
4. 000021

Question Number : 132 Question Id : 6806794332 Question Type: MCQ
Correct: 1 Wrong: O

In septic tank design, the volume of digested sludge assumed as ----m3fcapitafday

Options:
1.021

2. 0021

o, 0.00z1
4. 000021

Question Number : 133 Question Id : 6806794333 Question Type: MCQ
Correct: 1 Wrong: 0

Pipe which carry liquid waste and do not include right soil is
Options:

1. waste pipe

2. sewer

3. 501l pipe

4. siphor pipe

Question Number : 133 Question Id : 6806794333 Question Type: MCQ
Correct: 1 Wrong: O

Fipe which carry liquid waste and do not include right so0il is
Options:

1. waste pipe

2. sower

2. soil pipe

4. siphon pipe

Question Number : 134 Question Id : 6806794334 Question Type: MCQ
Correct: 1 Wrong: 0

An openling in the sewer line for a person to enter through it for inspectiory, cleaning, repair and maintenanace
15

Options:

1. inspection hole
Z. Cleaning hole
3. repair hole

4. rmarn hole

Question Number : 134 Question Id : 6806794334 Question Type: MCQ
Correct: 1 Wrong: 0



ATl opening in the sewer line for a person to enter through it for inspection, cleaning, repair and maintenanace
15

Options:

1. inspection hole
2. cleaning hole
. repair hole

4. man hole

Question Number : 135 Question Id : 6806794335 Question Type: MCQ
Correct: 1 Wrong: 0

Fittings includes wash basins, sinks, bath tubs and flushing cisterns only are known as
Options:

1. 50il fittings

2. ablution fittings

2. plurmmbing fittings

4. sewage fittings

Question Number : 135 Question Id : 6806794335 Question Type: MCQ

Correct: 1 Wrong: O

Fittings includes wash basins, sinks, bath tubs and flushing cisterns only are knowmn as
Options:

1. Soil fittings

2. ablution fittings

2. plumbing fittings

4 sewage fittings

Question Number : 136 Question Id : 6806794336 Question Type: MCQ
Correct: 1 Wrong: 0

[5 code governing cold twisted bars is

Options:

1,15 456-2000

2. 15:11239-1966

=I5 11=29-2000

4. 15 1566-1367

Question Number : 136 Question Id : 6806794336 Question Type: MCQ
Correct: 1 Wrong: 0
I5 code governing cold twisted bars 15

Options:

115 456-2000
2. 15:1139-1966
= 15 :11239-2000
4 15 : 1566-1367

Question Number : 137 Question Id : 6806794337 Question Type: MCQ
Correct: 1 Wrong: 0

Increase in volume of sand due to moeisture content is called
Options:

1. Bulking of sand

2. Shrinkage of sand



2. Bulking of moisture
4. Bulging of moisture

Question Number : 137 Question Id : 6806794337 Question Type: MCQ
Correct: 1 Wrong: 0
Increase in volurne of sand due to moisture content is called

Options:

1. Bulking of sand

2. Shrinkage of sand
2. Bulking of moisture
4. Bulging of moisture

Question Number : 138 Question Id : 6806794338 Question Type: MCQ
Correct: 1 Wrong: O
Eemowval of form worl: from sides of beams should be after

Options:
1.1 day
2. 4 davs
3. 14 davs
4. 25 days

Question Number : 138 Question Id : 6806794338 Question Type: MCQ
Correct: 1 Wrong: 0
Eemoval of form worl: from sides of beams should be after

Options:
1.1day
Z. 4 days
3 14 davs
4, 28 davs

Question Number : 139 Question Id : 6806794339 Question Type: MCQ
Correct: 1 Wrong: 0
Tenon saw is a

Options:

1. Marking tool
2. Planing too]
3. Cutting tool
4. boring too]

Question Number : 139 Question Id : 6806794339 Question Type: MCQ
Correct: 1 Wrong: 0
Tenon 53w 15 a

Options:

1. Marking tool
2. Planing tocol
3. Cutting too]
4. boring tool

Question Number : 140 Question Id : 6806794340 Question Type: MCQ
Correct: 1 Wrong: O



which of the following 15 code lays down the guidelines for the requirements of water supply and sanitary
fittings in public buildings such as restaurants, factory halls, offices and cinerma houses etc

Options:
1.15:1180-1962
2. 151165 - 1962
3. 15:1170 - 1962
4 15:1172 - 1963

Question Number : 140 Question Id : 6806794340 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following 15 code lays down the guidelines for the requirements of water supply and sanitary
fittings in public buildings such as restaurants, factory halls, offices and cinerma houses etc

Options:
1.15:1160-1962
2. 151165 - 1962
3151170 - 1962
4. 15:1172 - 1962

Question Number : 141 Question Id : 6806794341 Question Type: MCQ
Correct: 1 Wrong: O
The device used in sanitary pipes for arresting foul smell is

Options:

1. Trap

2. 5eal

. Ohstruct
4. Corseal

Question Number : 141 Question Id : 6806794341 Question Type: MCQ
Correct: 1 Wrong: 0

The device used in sanitary pipes for arresting foul smell is
Options:

1. Trap

2. Seal

2. Obstruct

4, Corseal

Question Number : 142 Question Id : 6806794342 Question Type: MCQ
Correct: 1 Wrong: 0
The aggregate which 15 retained over IS5 Sieve IWo 450 15 called

Options:

1. Fine aggregate

2. Coarse aggregate
3. Medium aggregarte
4. Concrete

Question Number : 142 Question Id : 6806794342 Question Type: MCQ
Correct: 1 Wrong: 0

The aggregate which 15 retained over [5 Siewe Mo 480 15 callad
Options:

1. Fine aggregate

2. Coarse aggregate



3. Medium aggregarte
4. Concrete

Question Number : 143 Question Id : 6806794343 Question Type: MCQ
Correct: 1 Wrong: 0
For residential purpose, the voltage of electricity supplied in India is

Options:

1. 420 Volts
2. 3320 Volts
3. 220 Volts
4. 110 Volts

Question Number : 143 Question Id : 6806794343 Question Type: MCQ
Correct: 1 Wrong: O
For residential purpose, the voltage of electricity supplied in India is

Options:

1. 420 Volts
2. 320Volts
3. 230 Volts
4 110%olts

Question Number : 144 Question 1d : 6806794344 Question Type: MCQ
Correct: 1 Wrong: 0
Foweer plug svyrmibol for electrical installation is

1.
.
.U

i

Question Number : 144 Question Id : 6806794344 Question Type: MCQ
Correct: 1 Wrong: 0
Power plug symbol for electrical installation is

Options:

A4



OO

4.

Question Number : 145 Question Id : 6806794345 Question Type: MCQ
Correct: 1 Wrong: O
Engineering appliance which 15 not used to recelve huaman excreta directly 15

Options:

1. Indian Water Closet
2. EWiC

3. AQquapriry

4. Cistern

Question Number : 145 Question 1d : 6806794345 Question Type: MCQ

Correct: 1 Wrong: 0

Engineering appliance which 1s riot used to receive hurman excreta directly is
Options:

1. Indian Water Closet

2. EwWiC

. Aquapriry

4. Cistern

Question Number : 146 Question Id : 6806794346 Question Type: MCQ
Correct: 1 Wrong: 0

The unit for providing and fixing rain water pipe

Options:

l.m

Question Number : 146 Question Id : 6806794346 Question Type: MCQ
Correct: 1 Wrong: 0

The unit for providing and fixing rain water pipe

Options:

1.1m

Question Number : 147 Question Id : 6806794347 Question Type: MCQ

Correct: 1 Wrong: 0

ultiplying factor for painting area calculation of panelled or framed low on flat area
Options:

1. 1.10 for each face

2. 1.20 for each face



Z. 1.20 for each face
4. 0.80 for each face

Question Number : 147 Question Id : 6806794347 Question Type: MCQ

Correct: 1 Wrong: 0

Multiplying factor for painting area calculation of panelled or framed low on flat area
Options:

1. 1.10 for each face

2. 1.20 for each face

2. 1.20 for each face

4 0. 80 for each face

Question Number : 148 Question Id : 6806794348 Question Type: MCQ
Correct: 1 Wrong: O
The unit for brick or tile facing

Options:

. Numbers

4
4 M

Question Number : 148 Question Id : 6806794348 Question Type: MCQ
Correct: 1 Wrong: 0

The unit for brick or tile facing

Options:

2
1, -

3
o
2. MNumbers

4
4 M

Question Number : 149 Question Id : 6806794349 Question Type: MCQ

Correct: 1 Wrong: 0

Raking out joints in brick work or in stone masonry to a depth of about 13mm and filling the same with
mortar of slightly richer mix is knowrn as

Options:

1. Plastering

2. Distermnpering

=. white washing

4. Pointing

Question Number : 149 Question Id : 6806794349 Question Type: MCQ

Correct: 1 Wrong: 0

Raking out joints in brick work or in stone masonry to a depth of about 13mm and filling the same with
mortar of slightly richer mix is known as

Options:

1. Flastering



2. Distempering
=. white washing
4. Pointing

Question Number : 150 Question Id : 6806794350 Question Type: MCQ
Correct: 1 Wrong: 0

The horizontal member provide abowe the door or window opering to bear the load abowve it and distribute 1o
supporting walls either side 15 knowrl as

Options:
1. Beam
2. Lintel
. atrut
4. Colurtn

Question Number : 150 Question Id : 6806794350 Question Type: MCQ
Correct: 1 Wrong: 0

The horizontal mermber provide above the door or window opening to bear the load abowve it and distribute 1o
supporting walls either side 15 knowrl as

Options:
1. Beam
2. Lintel
2 Strut
4. Colurrn



